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PROVISIONAL ANSWER KEY

Name of The Post Jr. Programmer (Sahayak), (GMDC) , Class-3
Advertisement No 144/2019-20

Preliminary Test Held On 23-01-2021

Que. No. 001-200

Publish Date 25-01-2021

Last Date to Send Suggestion (S) 02-02 -2021

Instructions / ¥Yeil

Candidate must ensure compliance to the instructions mentioned below, else objections
shall not be considered: -

(1) All the suggestion should be submitted in prescribed format of suggestion sheet Physically.

(2) Question wise suggestion to be submitted in the prescribed format (Suggestion Sheet)
published on the website.

(3) All suggestions are to be submitted with reference to the Master Question Paper with
provisional answer key (Master Question Paper), published herewith on the website.
Objections should be sent referring to the Question, Question No. & options of the Master
Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master
Question Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the
responses given by him in his answer sheet. Objections shall not be considered, in case, if
responses given in the answer sheet /response sheet and submitted suggestions are differed.

(6) Objection for each question shall be made on separate sheet. Objection for more than one
question in single sheet shall not be considered & treated as cancelled.
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@121 2uSAldun 2 i sdiFas alavia whRs-irfis 2ol anzud w2
(B) Suor=ll Rauir vi=3 d¢y Rireu MU Usy Ao w2
.

(C) 111 Ul 0 @l el 20104, sl dla A6iBd wai 2431
(D) A5l Yeu x4 sRuel we

088. daud-il WRg ulden sz Yall gels sulBug dviega .......... 8.
A) als (B) -l
@-sun (D) S

089. ul3au &1-20 aes su 2020 Hi tudl Anui ™02 Alell yau viewdl sia g ?

(A) Y2l s Baleq [ REIRENCIE

(C) Y yrn uiea (D) Y3l Bt 2l
090. S8 s3cuefl doy sidL A 89, $1”0 3 AL Sl SWdd ..., Sy 69,

(A) AAS s AR @26 Al

(C) »isxlds Al (D) ucsYRs (A3
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091.

092.

093.

094.

09s.

096.

097.

199841 MIRd 6121 sAA [edlu uHy uRaR su1 UH AN 20d 8 ?

(A) @iuart [ @-ivian alaq

(C) 203U HIRA (D) 2032 [BRaox

(525118 ddA .......... Gualami Ay 69,

(A) Yl Acna-uil alaa (B) il tasly &otel wua Hnaal
@ uli gls (D) Q5u-l 2uglrizil v

12 opeuda Al 2 d-i you uas(oour) U 59 oAdl =il -4l ?
(A) SlFsun Slkeeye 2iis Wzl (IP) - e8ugA

(B) A2d 53 25y sa RuA S[Rezy2(CFTRI) - H3R

(C) Aana SlRezye viis Ras (NID) - viugis

@) 2114 vliz-lsa Ry SlReey2(NBRI) - Slast

auRdrl 2agell oiriaz-dl uaH diy “aqn - Aed Al A4 sun Qe 6 ?
(1) a-ll WRs & 38 (3.4 Y-l 8.

(2) d AG AnA wa gy v Rauq ) a3 o,

(3) MR-l AL uaH 1zl 155 x 45 s(an 2ulZas) an 6.

(@) L3l stisial diudl B« ud) stiacmi 2udl 6.

(A) $5d 1 11 2 (B) $5d. 2 ¥ 4
(C) §51 1,2 %1 3 @, 2,314
REN 219 ¢ ?

(A) AR Gl Alell ay Bewent s-udl su-l.

@ v Qo Al uL Al 2 AR .

(C) uart Gloy Alell ay Gewe-t sl Sul.

(D) ¥ig Aig2d2 B, B Yri: Wi Qlogl el 231 8l y3 u3 .

SH 23Ul BuALH AW HisAd S sUL GUASH URAUUA SAUH] ) 69 ?

(A) RA2 &
(C) 2lauin (D) uAH

SA sulL AlasiRs Maq girL 2is 18 104 Guasia v s34 [Qaldsy wafld sal ©.
(A) GSLV-D06 (B) PSLV-D36
(C) GSLV-F06 @rsiv- c37
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c N A

098. 2020 i UlSadld 52213l ‘YHMNAs o1l UL AU AL SiA AU 2L 69 ?
@) 5202yl B) 2l suiR Hoa R

(C) 4l $1R Hoau (D) sl o R [

099. w1 [Rda K-4 ded DA-u [l asl.
(1) SURAHL 19 AY2uL] 20201 Ay A0 UERL sRANL U,
(2) K-4 Rudardl wzs anda 4500 (3.4, 3ol ©.
(3) iaueuri uHg aell 52 dle: Wesiu udl ustn udlael saumi 2uey 6.
G5 Ul 5y / sul [Qeun / (Al 0 /069 ?
(A) 11 2 @123

(C) A2 M1 3 (D) 1,2, ¢4 3

100. CERT-IN g8 ?
(A) 5242 AsAULE YR @0 yren w2 gasieR Fea
(€) AlZ[E32-) was s2d Ais2d (D) 3L U4 s et Al

101, [graitg 2mlan dlsul8cr 20 g0l swal o @ad @) 6. 20 wsuHl Sulaw’ woe-dl g
w qu ?

(A) AR & (C) disBru (D) R

102, 2e30H Hou e dl ¢uflefl uRsl Al Badl ya 6. i aisumi ¢ellell 2424 g ?
(A) @ ULU (B) 4yl i€l @-iou 2 (D) dvua

103. ‘vidiof oul o il 2l ¢yfR yas v 3uisll sau- 9. 20 AsuHE Yas aoe-l w1l 3w ?
(A) Rl (B) 3 (C) weawel @iz

104, Gl Yausdlui 25 arg AG 211 dculR a8, 20l R aoel g Al a6 ?

[ [ECRIE] (B) 2A1-ie (C) w2l (D) 514

105. 2155301 ul3dl 5120, 21 s8ad-l 24 o i ?
(A) 255U udlmi 8519 A sl
@1 =007 gl wR A gl
(C) suriRflerd e wdlumi way rHan - 1o,

(D) ul3ul SHau AL oL s1Rul S,
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106.

107.

108.

109.

110.

111.

112.

113.

114.

291 QWAL AR Gl WILEAL A FUU. L 8-l 2AY 9w ?
@100 2udior L Sl dl 1 A,

(B) 2421 A3l R 4all wigal [Raas ).

(C) 2021 gau- wiglldl A £12 as.

(D) 2021 AL R gair Al we gl wellell sixdl .

iaeflel] A o, L sdad-l A g A ?
(A) 2l A 2idR ag S, (B) 2wl 2uul dl WAl uss.
(C) 241l 2 v 5L HA 9. @125 2 wzs,

‘191, Glugd A 31 usd. 24 s8adnl el g ?

(A) 50U A%l 1 qdl Ul @1 0d 2 weq ondl.

ey

(C) 31 d2ai-l Sl QuR % $191 6iA, (D) 5191 d2eul 3191 % ol

‘slaull ecndlul gia s’ 21 sdad-l 2 o ?
(A) U8 5311 dl 1 s 1A, (B) scuclnl g1 stou .
@ s uRoun vuoL 2ud 8. (D) sl ecunel 4 sdl.

wuefl el aiol gell.” 24 s8ad-il A g 2 ?

(A) ARUAL HIR vi6L ALl (B) Wiedl 2Rl HyR Adfld Uel s2.
(C) -l 2ARUrL HIR GAg SUS3A ALdl. @521 surcuou ay €a 52
‘Y 2124 A d.” 20 3BUALL AHAAL.

(A) U3 vieuu A od, (B) »ReuHil 224 5304 vud,
@i 21 a4, (D) SRHL 481 6L 2531 4 %al.

201 5isdl.” 21 3[EuULLAL 212l g wn ?

(A) vir-l &2 ) ol (B) Guart $3) mal.
(C) 2wl v, @10 0 g,

‘iieg Blad,” 21 3N A2 531,

@00 s o, (B) 224 Gddl %d.
(C) A o, (D) 29 Ay wHal.

‘St 1L 8Rd.” 20 3[Rnalonl g vl ?
(A) 511 UR AESIR L udrdl. @oiclzc - &g,
(C) x5 dicdlcul ddl. (D) 517 4183 i,
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115.

116.

117.

118.

119.

120.

121.

122.

123.

124.

125.

126.

127.

(vl 28l od,” 21 3Nl A g i ?

(A) 1™idl €2 A 524,
(C) as14L ud.

‘cual’ 2oe -l axrudl 2oe »uul.
@
o’ aoel qxruell 2oe 2uul.
(A) §& &«

(B) tteusil

‘B’ aoei qxruel ase 2uul.
(A) 2R &:s

(eaus?’ acel ai-udl 2oe 244l

(A) glal Yara-uR B) [zaa

B’ 6e-1 aHiudl A0t 2l
A) €l (B) QM8
uoNEl’” aoel [QRAH ace 2uul.

(A) adl (B) 2UGlEL-UL

Al aoel [QRAH) ase 2uul.
@i

Uan’ Ae-L (A1) 20€ 20Ul

(A) UYsd

(A) HHQL (B) 4¥14H

‘B’ At~ [AR14) 208 2uul.

@-.i« B) dlst
TR el (14 ace 2uul.
A) da @

Heusit ax-uell el Asell 12 yoror =l 8.

B) Bua

@G

(B) 2wt »nadl.

@)L ag.

(C) uvll

(C) uix-l

(C) W

(C) A2

@:4
@

(C) Pl

(C) Gan

(C) vise

(C) ulR~

(C) Sl

[Qzldenau-u »i32 uxi-uell aoe-l Asell 1A Yoot =l 8.

(A) YRaRA (B) ylaf&Ed

[ FIECIRE

(D) cuedl

(D) A¥

(D) uldia

@

(D) ALY

(D) ASIY

(D) [alare

@i

(D) Gun

(D) as14

(D) Slxud

(D) yYRazdl
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128.

129.

130.

131.

132.

133.

134.

135.

136.

137.

138.

139.

140.

ol W3l oudl-u i3 nwu-nell ave-l ssell DA yoror il ©.

(A) dsa (B) A145E (C) wdsa

2U3€1R Aoe AL ARl 20e-) A3ell 1A yoror =l 6.

[ MBI (B) ulasla (C) udl¥éla
uganl aHrnel aoe-l oAsell 1A yoror il 8.

(A) Wlatadl (B) udlta- @
UL UHeL Yl uRidl siamon g s ulsasi sul xes © ?
(A) uHs (B) v (C) Guw
VigA o W2 wdl 25 s Al 9.7 2 UlsAnE sUl NesR B ?
(A) dicaui & (C) AAlE 1R
HYR 2ot [AgaL vy 52,

s geul udl ™2,

L U[Sa2ul sUl AASR 9 ?

@-icupux (B) 445 (C) ¥ty
) Al Yo s B YeR 9. U ASUAAL UL UASR 9 ?

(A) S @cun (C) vy
ULl HU L ALSAHE SUL AASIR 9 ?

(A) Bicaui (B) Gut @
SHNAUA L AGEHL SUL AU 69 ?

(A) nafdeua @R (C) ds
UYIALY AGEHE SUL AHA €9 ?

[ PIEIIE (B) vigsllle (C) &
‘IR’ ALEUL sUL AU ?

(A) cufdcna B) tigsllR @:-
U’ AGEHL SUL A D ?

(A) 2eufacuq (B) tigslll8 (C) ds
‘SANR’ AU UL A ?

(A) Aealdeuq @y (C) d¢

[ HIEPE]

(D) ulaxla

(D) udltalr

[ ETIRMIES

(D) Guwy

(D) Guwy

(D) A=l 512

(D) AR

(D) Ayl

(D) Ay

(D) dcyl™

@i

(D) sHHIRY

[AQN-1]



acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


141.

142.

143.

144.

145.

146.

147.

148.

149.

150.

151.

152.

AGEAHS HI2 s AoE UL ‘UnRA] ISR,
(A) oy @2 (C) tsu-l

AGEAHE HI s AE 2L, W [’
(A) [Rein (B) AgR (C) MiY]

AGEAHE HIE A5 AGE 2L ‘B 1 olly Sl
@ruuzs (B) (C) A2

AGEAHE HI s AE 2l waEll W Yl

(A) AAUHARS (B) 1dH2ds @-uczas

AGEAHS HI2 s AoE 2L, “‘OlE9d $0 20U B3,
(A) 18y, (B) u-iail®dd (C) yavlaa

."\t‘fﬂ (B) ¥4l + 5 (C)As +5

-\

AR 918 : Bswe’
A) Bs +wa @z + wa ©) B + swa

9% BN : DAAHT ROLSR 53 ¥,
geuHi o & [Ae! yR3y.

(A) HeElsidl (B) &ooll @[l

¢9 oAl 2 QHIA L 530, YA A A efl-u agi.’
(A) Helsidl (B) {0l (C) galadilora
¢9¢ 2tuvial : ‘631 [RUeUl ad xAMA BRugH URdl.’
(A) HeEwsidL @-vcaliiaq (C) galacbid

(D) vein

@-

(D) A%

(D) G~y

@:cwn

(D) %55 + 5

D) RBsw +a

(D) 5214

@

(D) ydl

“The means employed by you sufficient.” Supply appropriate verb form.

.is (B) are

(C) has (D) none of the above

“My uncle is arriving tomorrow.” This sentence is in Present Continuous Tense and it expresses

event.

(A) Present (B) Past .Future

(D) All of the above
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153. Identify the correct sentence:
(A) Standing at the gate, a scorpion stung him.
(B) While standing at the gate, a scorpion stung him.
.Standing at the gate, he was stung by a scorpion.
(D) Standing at the gate, while he was stung by a scorpion.

154. A gerund is that form of the verb which ends in —ing, and has the force of a and a verb.
@~oun (B) Adjective (C) Adverb (D) Preposition

155. Choose the correct sentence:
(A) All informations given by him are wrong.
(B) All the informations given by him are wrong.

(C) All information given by him are wrong.

.All information given by him is wrong.

156. Choose the correct sentence:
.His house is made of brick and stone.
(B) His house is made of bricks and stone.
(C) His house is made of bricks and stones.

(D) His house is made of brick and stones.

157. The chairman to bed for the last three years.
(A) is confined (B) was confined
.has been confined (D) will be confined

158. Identify the correct sentence:
(A) I tried hardly to remember where I had parked my car.
(B) I tried hardly to remembering where I had parked my car.
.I tried hard to remember where I had parked my car.
(D) I tried hard to remembering where I had parked my car.

159. “Peter Piper, student in the professor’s college, asked him why he refused to talk to
press.” Supply appropriate articles.
(A) the, the @-. e (C)a,a (D) the, a
160. “I have a flat on top floor. You get lovely view from there.” Supply appropriate
articles.
(A) the, the (B) a, the (C) a,a @re, 2
161. “How are you getting at school?” Insert suitable word:
(A) in @ (C) through (D) up
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162.

163.

164.

16S.

166.

167.

168.

169.

170.

171.

172.

173.

174.

“I] am sorry being late Monday.” Insert appropriate prepositions.
(A) for, in (B) at, on .for, on (D) at, in
“] want two seats Romeo and Juliet.” Supply appropriate preposition.

(A) of &sor (C) in (D) at
Which one of the following is a quantitative adjective?

(A) golden (B) each .any (D) its
“He went the furthest of explorers.” Determine part of speech of “furthest”
.Adverb (B) Adjective

(C) Conjunction (D) Preposition

“When we lived in town we often went to the theatre.” Find out conjunction in the sentence.

& ren (B) in (C) often (D) to
“It’s raining, ” Add question tag.
(A) is it? @&isotic2
(C) is there? (D) Isn’t there?
You can’t expect just student to solve the problem. It requires a mathematician.
(A) one (B) some (C) many .any
people know this and it’s still a top secret.
(A) Some @r.v (C) Little (D) A few
I’ve been waiting six o’clock.
.since (B) by (C) for (D) from
When I first reached Spain I read Spanish well.
(A) can (B) had (C) was @oua
If you said that, he be very offended.
.might (B) may (C) has (D) none of the above
I knew that 1 not to open the letter.
(A) should (B) must @ ouent (D) would

“Most people opposed this.” Transform into passive.
(A) This is opposed by most people.

(B) This is being opposed by most people.

(C) This was being opposed by most people.
.This was opposed by most people.
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175.

176.

177.

178.

179.

180.

181.

182.

183.

“We will not admit children under sixteen.” Transform into passive.
(A) Children of sixteen will not be admitted.

(B) Children of sixteen shall not be admitted.

(C) Children under sixteen are not admitted.

.Children under sixteen will not be admitted.

“Children couldn’t have done all this damage.” Change voice.
(A) All this damage couldn’t be done by children.

.All this damage couldn’t have been done by children.

(C) All this damage couldn’t been done by children.

(D) All this damage couldn’t had been done by children.

“Eldest” the superlative degree of the adjective “old” implies:
(A) Things only .People only
(C) Both things and people (D) None of the above

Superlative degree of the adverb “badly” is:
(A) Most badly (B) badliest .Worst (D) worse

Identify the correct sentence:

(A) After lunch we’re doing a history lesson.
(B) After lunch we’re doing history lesson.
.After lunch we’re having a history lesson.

(D) After lunch we’re having history lesson.

Pick out the correctly spelt word:

(A) Allready .Already (C) Al ready (D) allredy

Pick out the correctly spelt word:

.In spite of (B) Inspite of (C) In spiteof (D) inspiteof
“Low wages mean a hand-to- existence for many people.” Complete the idiom.
(A) hand (B) face (C) head @mouth
“Drug barons were greasing the of the chief of police.” Complete the idiom.
(A) machine .palm (C) motor (D) pocket

[AQN-1]



acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


184.

18S.

186.

187.

188.

189.

190.

191.

192.

193.

194.

195.

“Maria got off to a flying in her new office.” Complete the idiom.

(A) race (B) beginning .start (D) performance

Her unification speech was seen as a clarion to party members.

(A) beacon (B) signal (C) motivation .call

“Come . ” Complete the phrasal verb with a preposition from the list to convey the
meaning “return”:

(A) up (B) out (C) across @roacx

“They’re in the fifth day of negotiations to a deal.” Choose a phrasal verb from the list to
complete the meaning:

(A) nail down (B) dig up .hammer out (D) chip away

What is the meaning of the phrasal verb “Hang on”?

(C) To Kkill by putting a rope around the neck

(D) To tie

“Many shoppers end up (spend) more than they planned.” Put the verb in correct form.
(A) to spend (B) spent (C) being spent .spending

“She would never miss out an opportunity to make some money.” Complete the sentence

using appropriate preposition.

@ (B) for (C) at (D) with

Pick out the correctly spelt word:
(A) Leftenant .Lieutenant (C) Lieutenent (D) Leuftenant

Pick out from the list the synonym of “avarice”:

(A) Allege .Greed (C) Boulevard (D) Auspex

Which of the following is not the synonym of “detract”?
(A) Diminish (B) Lessen @ rouch ofr (D) Divert

Which of the following words is not the antonym of “poverty”?

(A) Affluence @ piscordance (C) Fertility (D) Plethora

Find one word substitute for “one who runs away from justice”

@rugitive (B) Fanatic (C) Emigrant (D) Heretic
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196.

*

197.

198.

199.

200.

Find one word substitute for “one who is unable to pay his debts”
(A) Iconoclast (B) Mercenary .Insolvent (D) Impregnable

Note: Read the following passage carefully and answer question numbers 197 to 200 which are
based on the passage.

When I go into a stranger’s library I wander round the bookshelves to learn what sort of person
the stranger is, and when he comes in I feel that I know the key to his mind and the range of his
interests. A house without books is characterless house, no matter how rich the Persian rugs.
These only tell you whether he has a lot of money, but the books tell you whether he has got a mind
as well. It is not a question of money that we do not buy books. I repeat that the books are the
cheapest as well as the best part of the equipment of a few dollars. Nearly all the best literature in
the world is at your command at two dollars a volume. For 100 dollars you can get a library of fifty
books. Even if you do not read them yourself, they are a priceless investment for your children.
What delight is there like the revelation of books — the sudden impact of a master-spirit, the sense
of a window flung wide open to the universe? It is the adventures of the mind, the joy of which
does not pass away, that give the adventure of life itself beauty and fragrance.

What delight does a good book provide?
(A) It gives us information

(B) It entertains us

(C) It helps us getting good job

.It reveals the mind of a great man

What can books tell you about a stranger?
(A) That he is a rich man

(B) That he believes in priceless investment
.That he has good mental faculties

(D) That he believes in God

When one reads a good book, one is delighted because
(A) one finds the windows of the library opened
.one feels the influence of a great writer

(C) one knows much about the universe

(D) one knows a lot about human life

The words ‘master-spirit’ in the passage means
(A) a great thinker

(B) a prominent writer

.the spiritual and intellectual effect of a master

(D) one who has a control over the spirit of a man
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001.

002.

003.

004.

005.

006.

007.

008.

SONET stands for
.Synchronous Optical Network
(B) Synchronous Omni Network
(C) Synchronous OSI Network
(D) None of the above

DHCP assigns IP addresses to computers in a Local Network when they are configured
as clients.

(A) Statically .Dynamically

(C) Default (D) Numerically

Full form of RADIUS Server is

(A) Remote Authorization Dial-Internet User Service
(B) Remote Application Dial-In User Service
.Remote Authentication Dial-In User Service

(D) Remote Application Dial-Internet User Service

is a network technology that creates a Secure network connection to a trusted network
or connects two corporate networks.

(A) ADSL @ rn
(C) WLAN (D) WiMax

In Linux, which script is executed for setting bash global defaults for all users?
(A) /etc/.profile (B) /etc/.bashrc
(C) /etc/.log ./etc/proﬁle

Which of the following statements is correct for CIDR (Classless Inter-Domain Routing)?
.There is no concept of class A, B, C networks

(B) There are only two networks

(C) Class A includes Class B network

(D) There is high- & low-class network

191.168.10.10 IP address is the part of which IPv4 class?
(A) Class-A @ ciass-B
(C) Class-C (D) None of the above

On which Port two Servers most likely communicate with a firewall between them?
.Port 80 (B) Any port is compatible
(C) Port 1000 (D) Port 255H
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009. Data link layer is responsible for
.Moving frames from one node to another
(B) Delivery of individual packets from source host to destination host
(C) Delay
(D) None of the above

010. What a firewall cannot do?
.Protection against social engineering attacks

(B) Content Filtering

(C) Caching the data
(D) Logging
011. IEEE 802.4isa Standard.
(A) Wi-Fi (B) RFID
.Token Bus (D) Ubiquitous computing

012. Stateful packet filteringis
(A) The coherent part of packet filtering
.The smarter way of packet filtering
(C) State cycle phase of packet filtering
(D) Packet inspection technique

013. WLAN devices are
(A) Access points (B) Routers and gateways
(C) Antenna .All of the above

014. The key combination used to minimize all open windows and display the desktop is
(A) Alt + F4 (B) Shift+ M
.Windows Key + D (D) CTRL+D

015. Datagram forwarding is used by
(A) Routers only (B) Ethernet Switches only
@soth (A) and (B) (D) None of the above

016. Which of following sentences relates ‘possibility of congestion’?
(A) Inbound interface of packets
(B) Packet traffic filtering
(C) Queuing and collecting packets
.Packets arriving faster than they can be sent out
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017.

018.

019.

020.

021.

022,

023.

024,

02sS.

026.

STP in switch stands for

(A) Secure transmission protocol (B) Standard transmission protocol three-layer

.Spanning tree protocol (D) Spanning traffic procedure

In Linux which command is used with ‘Vi’ editor to delete a single character?
(A)B B)Y

©A @x

What networking structure does 802.11 standards define?

(A) LAN &@iaN

(C) FAN MD25G

Full form of PPP is

.Point to Point Protocol (B) Packet to Packet Protocol
(C) Point to Packet Protocol (D) Packet to Point Protocol

Default subnet mask for Class B IP address is
(A) 255.0.0.0 @):255.255.0.0
(C) 255.255.255.0 (D) 255.255.255.255

Layer-2 Switch is also called

(A) Multiport Hub (B) Multiport Switch
.Multiport Bridge (D) Multiport NIC

IPSec stands for

.Internet Protocol Security (B) Internet Protocol Services
(C) Internet Protocol Signing (D) Both (B) and (C)

In Linux, applications communicate with kernel using

(A) Not disclosed by Linux team .System Calls
(C) SSL (D) IP address
RADIUS is popular with

(A) VPN systems that provide access to remote users

(B) ISPs that have dialup users

(C) Neither (A) nor (B)

@sBoth (A) and (B)

Default permissions of a file can be changed using
(A) group .chmod
(C) chperm (D) chall
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027.

028.

029.

030.

031.

032.

033.

034.

03s.

A is a layer 3 device that handles packets based on their logical addresses.
(A) repeater (B) bridge
.router (D) None of the above

What is the function of Network Interface Cards?

.Connects the clients, servers and peripherals to the network through a port
(B) Allows you to segment a large network into smaller, efficient networks

(C) Connects networks with different protocols like TCP/IP

(D) Boost the signal between two cable segments or wireless access points

Spread spectrum techniques can help wireless LANs function in environments.

(A) Sparse (B) Dense

@ oisy (D) Scant -

FAT stands for
(A) File Accommodation Table (B) File Access Tape
@rire Anocation Table (D) File Activity Table

802.15.4 PAN standard is assigned by IEEE for the purpose of

(A) High rate PAN .ZigBee technology

(C) Ultra-Wideband (UWB) (D) Bluetooth technology
The 802.11a uses as multiplexing technique has Data rate.
@ orpwm, 6 to 54 Mbps (B) OFDM, 22 to 54 Mbps
(C) DSSS, 5.5 and 11 Mbps (D) OFDM, 5.5 to 11 Mbps

Wi-Fi stands for

@ wireless fidelity (B) Wired fidelity

(C) Wireless frequency (D) Wired frequency
What is WPA?

.Wi—Fi protected access (B) Wired protected access
(C) Wired process access (D) Wi-Fi process access

What is Wired Equivalent Privacy (WEP)?

(A) Security algorithm for voice communication
(B) Security algorithm for Ethernet
.Security algorithm for wireless network

(D) Security algorithm for emails
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036.

037.

038.

039.

040.

041.

042.

043.

044.

045.

Which WLAN mode is used for larger setup?
.Infrastructure mode (B) Ad-hoc Mode
(C) Relative Mode (D) Gaussian Mode

802.11a offers greater speed than 802.11b but offers less
(A) Channels .Distance
(C) Bandwidth (D) Security

Which command(s) is/are used to get help about any Linux command?
(A) man (B) info
@soth (A) and (B) (D) None of the above

To radio engineers, “Bandwidth” means
.F requency range used by a Signal (B) Data transmission rate
(C) Amount of money invested (D) None of the above

Bluetooth is an example of:
.personal area network (B) local area network

(C) virtual private network (D) None of the above

The system calls of UNIX are written in which programming language?

(A) Java .C
(©) C++ (D) Python

Which command is used to set terminal IO characteristic?

(A) tty (B) ctty

(C) ptty @ty

To allow Windows to access a Linux system and Linux to access a Windows system
(A) Linux Data manager is used .Samba Server is used

(C) Virtual Box is used (D) It is not possible

can be used to run X Window System applications on a remote system.
(A) Google server .X server
(O) Y Server (D) None of the above

Access points are informally known as
.Base stations (B) Base transmitters
(C) Base controllers (D) Nodes

[AQN-2] [Contd.


acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


046. In WLAN Infrastructure,
.Each wireless host communicates through one of the access points
(B) Many specific wireless hosts communicate with one access points
(C) Set of access points requests communication with single wireless hosts
(D) Only base stations communicate in the network

047. To what extent do access points need to coordinate?

.The access points coordinated to provide seamless mobility similar to the cellular phone
system

(B) The access points coordinated to communicate with base transmitter and hosts
(C) The access points coordinated to increase bandwidth and data quality of Wireless network

(D) The access points don’t coordinate rather they create a network where communication with
hosts is an ease

048. is true for message switching -

(A) Physical path established between transmitter and receiver.

(B) Physical path established between transmitter and receiver after connection.

.NO Physical path established between transmitter and receiver in advance.

(D) Physical path established between transmitter and receiver after connection in advance

049. Sequence the stages of joining a network:
(1) Open-authentication and association
(2) True authentication
(3) Scanning (or active probing)
(4) DHCP (Dynamic Host Configuration Protocol)

A)1-2-3-4 B)2-1-4-3

(C)1-3-4-2 @;-1-2-4
050. The Linux command line interface consists of a

(A) Arguments (B) Options

(C) Multiple lines .Single line

051. You need to subnet a network that has S subnets, each with at least 16 hosts. Which of the following
subnets will be your choice?

(A) 255.255.255.192 .255.255.255.224
(C) 255.255.255.240 (D) 255.255.255.248

052. An Operating System that can do multi-tasking means
(A) The OS can divide up work between several CPUs
.Several programs can be operated concurrently
(C) Multiple people can use the computer concurrently

(D) All of the above
[AGN-2]
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053.

054.

05S.

056.

057.

058.

059.

060.

061.

062.

063.

First sector of boot device is known as

@BooT sector (B) CPU

(C) ROM (D) Hard drive
Which algorithm favours CPU-bound processes?
.First-Come-First-Serve (B) Round Robin
(C) Shortest Remaining Time (D) Multilevel

Which of the following is a connectionless protocol at transport layer?

(A) TCP (B) IP

@uor (D) All of the above

Length of an IPv6 address is bytes.

(A) 4 @6

(©)32 (D) 64

Process is

(A) An executing set of human instructions (B) Complex algorithm

.An executing set of machine instructions. (D) None of the above

Which of the following cannot contain multiple Active Directory domains?
.Organizational units (B) Sites
(C) Trees (D) Forest

Which of following is/are not LINUX distributions?

(A) Slackware (B) Fedora

(C) PCQuest .All of the above

NAT stands for

.Network Address Translation (B) Network Authority of Telnet
(C) Network Application Transport (D) Network Address Transition
Page-Table length register (PTLR) indicates size of

@rage Tanle (B) Paging File

(C) Main Memory (D) Virtual Memory

How many group scopes are there in Active Directory?

.Three (B) Zero

(C) Ten (D) Five

Data dictionary of Oracle database is located in
(A) Stack Space (B) Data file
.System Tablespace (D) None of the above
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064.

06S.

066.

067.

068.

069.

070.

071.

072.

073.

Active Directory is developed by

(A) Google (B) World Web Consortium
@ Microsoft (D) W3C

Resolution of externally defined symbols is performed by

@ vinker (B) Loader

(C) Compiler (D) Assembler

Time to read a page is known as

(A) Latency time .Transfer time
(C) Seek time (D) Fun time
Page fetch policy

.Determines when a page should be brought into main memory
(B) Determines when a page should be deleted

(C) Determines when a page should be spilt

(D) None of the above

SMTP stands for
(A) Simple Mail Technology Procedure .Simple Mail Transfer Protocol
(C) Synchronous Mail Transfer Protocol (D) None of the above

PGP stands for and used as standard.
@)rrctty Good Privacy, Email (B) Pretty Good Privacy, FTP
(C) Piped Gateway Protocol, Email (D) None of the above

When http is used over SSL is known as
(A) 802.11 (B) Ciphering

(C) Firewall @urres

In SMTP, the command to write receiver’s mail address is written with the command
(A) SEND TO @rcrrTO

(C) MAIL TO (D) RCVRTO

802.1 IEEE is known as

(A) LAN security standard .Internetworking standard

(C) Email Standard (D) Social Media Standard

802.10 IEEE standard is known as
.LAN security standard (B) Internetworking standard
(C) Email Standard (D) Social Media Standard
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074.

07s.

076.

077.

078.

079.

080.

081.

082.

STOP and WAIT protocol functions at layer
(A) Physical .Data Link
(C) Session (D) Network
Repeater works at the Layer

@ rhysical (B) Data Link
(C) Session (D) Network

An in-doubt distributed transaction occurs when

(A) When Two-phase commit was declined by server for security reasons
(B) Primary key is undefined

(C) Query design is wrong

.Two-phase commit was interrupted by system or network failure

Which prefixes are available to Oracle triggers?

(A) :newb (B) :old

@sBoth (A) and (B) (D) Neither (A) nor (B)

What is the type of Oracle backup and recovery file that contains user and system data?
@ata file (B) Control file

(C) Online Redo file (D) Offline Redo file

What is the type of Oracle backup in which all uncommitted changes have been removed
from data files?

(A) Inconsistent backup .Consistent backup
(C) Full backup (D) Differential backup

Which of the following scenarios ends an Oracle Transaction?
(A) User disconnects from Oracle
(B) COMMIT or ROLLBACK is issued

(C) User process terminates abnormally
.All of the above

In some situations, a command to alter status or priority of a failure is
@) CHANGE FAILURE (B) ALTER FAILURE
(C) FAILURE CHANGE (D) CHANNEL FAILURE

The main purpose of RMAN validation is to
.Permit only one restore operation

(B) Store information in backups

(C) Check block every time it is read or written

(D) Check for corrupt blocks and missing files

[AQN-2] [Contd.


acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


083. DNS servers are
(A) Primary Master and Secondary Slave
(B) Primary Slave and Secondary Slave
.Primary Master and Secondary Master
(D) None of the above

084. Which processes is an instance made of Oracle?

(A) Memory processes .Oracle background processes
(C) Data processes (D) All of the above
085. What type of failure occurs when Oracle fails due to an operating system or computer hardware
failure?
(A) Application failure (B) Media Failure
.Instance Failure (D) Rollback failure

086. Which of the following is true?

. The MERGE statement is used to select rows from one or more sources for update or insertion
into a table or view.

(B) A MERGE statement replaces the data of one table with that of another.
(C) A MERGE statement can be used to revert new rows into a table.
(D) A MERGE statement can be used to update all rows in a table.

087. In creating a procedure, you may get a message if you have compilation errors. Which of the
following is true for SQL *Plus?

(A) The line numbers reported match the line numbers you see in your text editor.
(B) SQL*Plus will automatically show the errors to you.

.To see the errors, enter SHOW ERRORS in SQL*Plus.

(D) If there are no syntax errors, you will receive the message “NO ERRORS.”

088. A is used to logically group data together.
(A) Object (B) Data files
.Tablespace (D) Database

089. MOUNT command is used
(A) To create new logical drive in windows OS
(B) To uninstall LINUX
.To attach file system/removable devices to directory tree
(D) All of the above

090. Which command in Oracle database recovery is used to validate database files?
@) VALIDATE BACKUP (B) BACKUP VALIDATE
(C) VAL BACKUP (D) BACKUPSET
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091.

092.

093.

094.

09s.

096.

097.

098.

The view displays blocks marked corrupt by database components such as
RMAN, ANALYZE, dbv, and SQL queries.

@) VsDATABASE_BLOCK_CORRUPTION’
(B) ‘VSLOG_ARCHIVE_DEST_n_BLOCK_CORRUPTION’
(C) ‘LOG_ARCHIVE_DEST_n_RECOVER’

(D) Anyone can perform queried function

One can end the server session corresponding to the RMAN channel by running
statement.

@)sQL ALTER SYSTEM KILL SESSION

(B) TERMINATE SESSION

(C) RAM TERMINATE

(D) SYS TERMINATE RAM SESSION_NAME

Network Log is a file which contains

(A) Record of Website searches (B) Record of events and connections
(C) Record of user .All of the above
is/are addresses for IPv6.
.Unicast, Anycast and Multicast (B) Multicast Only
(C) Unicast Only (D) None of the above

is/are true for packet switching
(A) Resources are allocated when needed
(B) No reserved bandwidth on links
(C) Schedule is fixed for each packet
@Both (A) and (B) are true

DHCP stands for

.Dynamic Host Control Protocol

(B) Dynamic Host Configuration Protocol
(C) Dynamic Hyper Control Protocol

(D) Dynamic Hyper Configuration Protocol

is/are IPv4 to IPv6 transition strategies
(A) Dual Stack @ runneniing
(C) Header Transition (D) All of the above

Data centre applications
.Execute on server (B) Execute on client

(C) Can execute on client/server (D) Execute independently
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099.

100.

101.

102.

103.

104.

10S.

106.

107.

Root Server is

(A) A server which transmits whole information about zone
(B) A client whose zone consists of whole tree.

.A server whose zone consists of whole tree

(D) None of the above

Line coding is the process of converting
(A) Digital Data into Analog Signal
(B) Analog Data into Analog Signal
.Digital Data into Digital Signal
(D) Analog Data into Digital Signal

What is the default size value of n in a column which is defined as VARCHAR(n)?

(A) NULL 3B)0

.1 (D) None of the above
A table containing a value cannot be clustered.

(A) RAW @LonG

(C) DATE (D) NUMBER

A value can be inserted into the columns of any data type.
(A) NOT NULL (B) NUMERIC

(C) CHAR @nruLL

Which of the following predicates allows for a comparison of one string value with another string
value, which is not identical?

@ik (B) DISTINCT
(C) OR (D) NOT

Which of the following is another section of the SELECT statement?
(A) HAVING (B) CREATE
(C) UNION @crour BY

Which of the following constraints permits multiple NULL entries into the column?

(A) PRIMARY KEY (B) FOREIGN KEY

@ uniQuE KEY (D) CHECK CONSTRAINT
Maximum storage size of CLOB type is .

(A)1GB (B)2 GB

@:c:s (D)5 GB
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108.

109.

110.

111.

112.

113.

114.

115.

116.

To reduce redundant data to the minimum possible, which of the following is created?
@vicw (B) INDEX
(C) CLUSTER (D) SUBQUERY

Consider a ‘RADIUS Authentication’ protocol which has target IP °23.16.18.17' and target port
‘1812°, what must be source port?

(A) 8086 (B) 80

(C) 8013 @y

Which of the following is true for ORACLE E-Business Suite?
(A) Runs on Amazon cloud

.Is Not Software as a Service (SAAS) application

(C) 1t is free application

(D) None of the above

is/are true for block volume in ORACLE E-Business Suite.
(A) High Performance network storage capacity
(B) Supports broad range of 1/0O intensive workload
.Both (A) and (B) are True

(D) Block volume is special provision for backup

READ operation is equivalent to which of the following statements?
(A) INSERT (B) UPDATE
(C) CREATE @)seLECT

Which of the following operators is used to ensure that the search in the inner query terminates
when at least one match is found?

(A) LIKE (B) NOT EXISTS
.EXISTS (D) None of the above

An index created on a single column of a table is called a
(A) Unique Index (B) Duplicate Index
(C) Simple Unique Index @)simple Index

Which of the following is not a Looping structure?
(A) WHILE (B) FOR
(C) Both (A) and (B) @coro

Which of the following functions returns the length of a word?
(A) LEN () (B) SELECT ()
@ LenGTH () (D) SELECT (¥)
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117. Which of the following functions removes all specified characters either from the beginning or the
ending of a string?

(A) LTRIM () @rriv ()
(C) RTRIM () (D) REMOVE ()
118. Multiple queries can be put together and their outputs can be combined using the clause.
@union (B) ADD
(C) INTERSECT (D) MINUS
119. Values are not ignored during duplicate checking.
(A) UNION @~uLL
(C) NOT NULL (D) None of the above
120. Aggregate functions in SQL are:
(A) GREATEST, LEAST, ABS (B) UPPER, LOWER, LENGTH -
(C) SQRT, POWER, MOD @)suM, COunT, AVG
121. A is a schema group object that contains data from one or more tables, all of which
have one or more columns in common.
@) cLUSTER (B) PACKAGE
(C) INDEX (D) TRIGGER

122. Index consists of
(A) Alist of keys (B) Pointer to the record
@noth (A) and (B) (D) None of the above

123. An indexing operation is
(A) Sorting a file using a single key
(B) Sorting a file using two keys
.Ordering of the record based on search key value
(D) Both (B) and (C)

124. Oracle uses a method called to implement concurrency control.
(A) Sorting .Locking
(C) Searching (D) None of the above
125. Only one lock can be placed on a resource at a time.
(A) Shared (B) Row level
(C) Both (A) and (B) @ xclusive
126. Shared locks are placed on resources whenever a operation is performed.
(A) WRITE @reap
(C) Both (A) and (B) (D) None of the above
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127.

128.

129.

130.

131.

132.

133.

134.

135.

The technique of lock taken on a table or its resources by a user is called

(A) Mutual Locking (B) Implicit Locking

.Explicit Locking (D) None of the above

A/An is a code block in memory that will attempt to resolve the current exception
condition.

(A) Default Exception Handler .Exception Handler

(C) Error Handler (D) None of the above

Which of the following tasks cannot be performed when ALTER TABLE clause is used?
(A) Change the name of the table.
(B) Change the name of the column.

(C) Decrease the size of a column if table data exists.
.All of the above.

Which SQL Command is used to change the table’s storage data?

@)ALTER TABLE (B) MODIFY TABLE

(C) CHANGE TABLE (D) NONE OF THESE

A is a statement that the system executes automatically as a side effect of a modification to
the database.

@ rrRIGGER (B) VIEW

(C) CURSOR (D) PROCEDURE

Functions that act on only one value at a time are called functions.

(A) GROUP @scaLar

(C) AGGREGATE (D) NUMERIC

When a trigger is fired, an SQL statement inside the trigger’s PL/SQL code block can also fire the

same or other trigger. This is called triggers.
(A) Implicit (B) Explicit
.Cascading (D) None of the above

Which of the following is known as the middle tier of Oracle E-Business Suite Three Tier
Architecture?

(A) Database (B) Client
(C) Server .Application

Which clause creates a data set, containing several sets of records grouping together based on a
condition?

@:crour BY (B) ORDER BY
(C) HAVING (D) DISTINCT
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136. Which of the following operators is used to match any substring?

A _ B) \
@ ®
137. The clause corresponds to the projection operation of the relational algebra.
(A) WHERE @seLecT
(C) FROM (D) DISTINCT

138. In Oracle, a database consists of information stored in files and is accessed using
@) \stanNcE (B) TABLE
(C) OPERATION (D) DATA MODEL

139. Which statement is used to confer authorization?
(A) PRIVILEGE (B) UPDATE
@ GranT (D) SELECT

140. A referential integrity constraint can be specified with the help of
(A) PRIMARY KEY @roRrEIGN KEY
(C) COMPOSITE KEY (D) None of the above

141. Which of the following is a set of one or more attributes that taken collectively, allow us to identify
a tuple in the relation uniquely?

@)suPERKEY (B) SUBKEY
(C) PRIMARY KEY (D) FOREIGN KEY

142. The passing of authorization from one user to another can be represented with
(A) GRAPH (B) USER GRAPH
.AUTHORIZATION GRAPH (D) DATABASE ADMINISTRATOR

143. Which of the following is an example of a Subquery?
(A) CREATE TABLE EMP_ACCOUNT LIKE ACCOUNT
(B) SELECT * FROM EMPLOYEE
(C) CREATE TABLE STUDENT (NAME CHAR (15), S_ID CHAR (10))

.SELECT EMP_NAME, (SELECT COUNT (*) FROM ACCOUNT WHERE ACCOUNT.
EMP_NAME = EMP.EMP_NAME) AS NUM_ACCOUNTS FROM EMP

144. The overall design of database is called the database
(A) STRUCTURE (B) BLOCK
(C) TABLE @)scuEma
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145.
146.
147.
148.
149.
150.
151.
152.
153.
154.

15S.

is an access strategy, used to sort & search records in the table.

(A) LOCKING (B) INSERTING

(C) SERIALIZING @) ~pEXING

Which of the following is not a constraint on a single relation?

@ GranT (B) NOT NULL

(C) UNIQUE (D) CHECK

An entity set that has a primary key is termed as a

(A) WEAK ENTITY SET @)sTRONG ENTITY SET
(C) OWNER ENTITY SET (D) None of the above

Which of the following is based on a sorted ordering of the values?

(A) HASH INDICES (B) PRIMARY INDICES

(C) SECONDARY INDICES @) ORDERED INDICES

Which of the following statements withdraws access privileges given to the database?
(A) TRUNCATE @rEVOKE

(C) GRANT (D) COMMENT

Which of the following is valid SQL statement for an index?

.CREATE INDEX ID; (B) CHANGE INDEX ID;

(C) ADD INDEX ID; (D) REMOVE INDEX ID;

Which of the following statements are DDL (Data Definition Language) statements?
(A) CREATE (B) DROP
(C) ALTER @)A1 of the above

Which of the following arithmetic operators is used for enclosed operation?
(A)* (B) /

@o (D) +

DDL and DML statements are compiled and executed by

(A) Transaction Manager .Query Processor
(C) Storage Manager (D) Data Model
Which of the following commands is used to delete a trigger?
@poror (B) DELETE

(C) REMOVE (D) None of the above

Variables in PL/SQL blocks are variables.
(A) RAW (B) CONSTANT
@n~AveD (D) DATA
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156. Which of the following is a correct SQL query syntax to remove a specific row from a table?
(A) DELETE FROM table_name;
(B) DELETE FROM table name WHERE condition;
.DELETE FROM table_name WHERE EXISTS (SELECT f name FROM table2);
(D) NONE OF THESE

157. Which of the following command makes the updates performed by the transaction permanent in
the database?

(A) ROLLBACK @& commit

(C) TRUNCATE (D) DELETE
158. PL/SQLis a language.

@)BLOCK-STRUCTURED (B) MODULAR

(C) RESTRICTED (D) MIDDLE-LEVEL -
159. If the Oracle Engine has opened a cursor for its internal processing, it is known as cursor.

(A) EXPLICIT (B) INTERNAL

@ vrLiciT (D) None of the above

160. Which of the following marks and saves the current point in the processing of a transaction?
(A) WORK (B) CURRENT
(C) ROLLPOINT @)saveroINT

161. The data stored in the cursor is called the

(A) DATA SET (B) DATA MODEL

.ACTIVE DATA SET (D) DATA WAREHOUSE
162. Which of the following command should be fired/executed before creating a Savepoint?

(A) ROLLBACK @& commit

(C) WORK (D) None of the above
163. PL/SQLis a of SQL.

@)suPERSET (B) SUBSET

(C) MEMBER (D) None of the above
164. PL/SQL code blocks start with a Section.

(A) BEGIN (B) MASTER BEGIN

@porEcLarATION (D) EXCEPTION
165. DNS stands for

(A) Data Network Security .Domain Name System

(C) Domain Network Security (D) None of the above
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166. PL/SQL uses the attribute to declare variables based on definitions of columns in a table.
@ ryrE (B) NULL
(C) NOT NULL (D) DECLARE

167. Digital signal is
(A) An analog signal with finite bandwidth
(B) An analog signal with no bandwidth.
(C) A composite analog signal with finite bandwidth
.A composite analog signal with infinite bandwidth

168. Raw types are used to store data.
(A) DYNAMIC @sinarY
(C) RAW (D) STRUCTURED

169. Which statement is correct about addressing?
(A) Physical address and logical address remain same hop to hop.
(B) Physical address will remain same hop to hop and logical address will change.
.Physical address will change hop to hop and logical address remains same.

(D) None of the above

170. RPC stands for

(A) Raid Protocol Community (B) Remote Protocol Call

(C) Remote Process Collaboration .Remote Procedure Call
171. Which of the following is also known as Cartesian Product?

.CROSS JOIN (B) INNER JOIN

(C) OUTER JOIN (D) FULL JOIN

172. Unique index is created automatically if there is a
(A) UNIQUE KEY @rrivARY KEY
(C) FOREIGN KEY (D) COMPOSITE KEY

173. Which of the following Clauses gives only the common rows returned by two SELECT statements?

(A) HAVING (B) EXISTS
@) ~NTERSECT (D) UNION
174. 1If a view is used to only look at table data and nothing else the view is called a view.
@ read-only (B) Updatable
(C) Inner (D) Outer
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175. Which of the following is called the address of an index?

(A)ID (B) PRIMARY KEY
(C) UNIQUE KEY .ROWID
176. On which tier of Oracle E-Business Suite, there is increasing use of Oracle Real Application
Clusters?
(A) Client .Database
(C) Application (D) None of the above

177. Which of the following is a named PL/SQL code block that has been compiled and stored in Oracle
Engine’s system tables?

(A) DATA MODEL .STORED PROCEDURE
(C) DATA BLOCK (D) FILE UNIT

178. SQL query — SELECT R FROM S WHERE T can be expressed as: -
(A) 11, (5, (5)) @ . 1)
(O 11, (5, (5)) (D) I, (o5 (R))

179. stores data in the form of related tables.
@roBM7s (B) DATA TABLE
(C) DATA BLOCK (D) DATA WAREHOUSE

180. Which of the following supports Client/Server Architecture?
(A) DBMS @roBMs
(C) TABLESPACE (D) None of the above

181. The end of an SQL statement is denoted by .
(A) The end of line character (B) An enter-key marker
(C) Entering F4 key .A semicolon (3)

182. Which of the following is not a component of SQL?
(A) DDL (B) DML
(C) DCL .None of the above

183. Which of the following operators is known as Exponential?

A (B) %
.** (D) <<
184. Variables or constants accepting by functions are called
(A) GROUPS @ ArRGUMENTS
(C) JOINS (D) DATATYPES
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18S.

186.

187.

188.

189.

190.

191.

Which of the following functions converts a CHAR value expressing a number, into a NUMBER

Datatype?
@ ro_NUMBER (B) TO_CHAR
(C) TO_NUMERIC (D) TO_CHARACTER

Which of the following is a database object that holds user data?
(A) DATA BLOCK @1ABLE
(C) TABLE BLOCK (D) DATA MART

The rights that allow the use of some or all of Oracle’s resources on the Server are called

(A) Permissions .Privileges
(C) Control statements (D) None of the above
The SQL syntax scans through entire rows & eliminates rows that have exactly the same

contents in each column.

(A) SELECT (B) DISTINCT

(C) ORDER BY .SELECT DISTINCT

Which of the following Codd’s Rules indicates that all data should be presented in table form?
(A) View Updating Rule .The Information Rule

(C) Guaranteed Access Rule (D) Non-Subversion Rule

The _ component of Oracle HTTP server accepts incoming HTTP requests from client
browsers.

(A) Web Services (B) Java Servlet Engine

.Web Listener (D) Oracle WebLogic Server

Consider the following code snippet: What will be the output?
DECLARE
a number(2) ;
BEGIN
FOR a IN REVERSE 10 .. 20 LOOP
END LOOP;
dbms_output.put_line(a);
END;
(A) 20 B) 11

@0 (D) 29
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192. Which of the following is false?
(A) TRUNCATE is a DDL statement.
(B) DELETE is a DML statement.
(C) TRUNCATE is faster than DELETE.
.The DELETE cannot be used with views.

193. Which of the following indicates partial dependency of attributes?
(A) An attribute is fully dependent on another attribute
(B) An attribute is partially dependent on another attribute
.An attribute is dependent on only a part of a composite primary key
(D) An attribute is fully dependent on primary key

194. A is an Oracle object, which holds other objects within it.
(A) PROCEDURE (B) TABLESPACE
@rackaGE (D) FUNCTION
195. Tableisin ____ form when all transitive dependencies are removed from its data.
.Third normal (B) Second normal
(C) First normal (D) Fourth normal

196. In NUMBER (P, S) data type, the letter ‘S’ stands for .
(A) SIZE @scaLe
(C) STORAGE (D) None of the above

197. Which of the following is a procedural language?

(A) Domain relational calculus (B) Tuple relational calculus
.Relational algebra (D) All of the above
198. Which of the following is a technique that decomposes data into two-dimensional tables?
(A) Elimination .N ormalization
(C) Aggregation (D) Generalization

199. In Oracle E-Business suite the following components of Client Tier must run within a Java Virtual
Machine on the desktop client

(A) Java Services .Forms client applet
(C) HTTP Services (D) Java Servlet Engine

200. The technique employed by the Oracle Engine to protect data when several people are accessing
it is called

.Concurrency Control (B) Transparency Control
(C) Locking (D) Serializability
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